(Bl&4) REDAHNDORBRTAEDHER (FHMIERE)

1. RER (G2 601R 1K)

e SIEH EERFULORR PEER | ZR0Z | wapa
RS BRER | sy S R (me/ke) fﬂi Efgg (me/ke)
FULRILTAY 1 0 — 0.02 0 0.01
7YX ROEY 3 0 — 0.2 0 0.01
AV7FaFAS> 4 0 — 10 0 0.05
AT ITIANI Y 3 0 — 0.05 0 0.01
ARV R)L7aY 3 0 — 0.1 0 0.01
AF TR 4 0 — 1 0 0.02
AR I TTY 2 0 — 0.05 0 0.02
IF7Fa—I 9 0 — 0.2 0 0.01
IrTz>FAvoIR 9 0 — 0.5 0 0.01
TXHTTIY 2 0 — 0.02 0 0.02
xS Tontky 4 0 — 0.05 0 0.01
yz)ay 1 0 — 0.1 0 0.01
YRFF=IY 15 0 — 1 0 0.02
yasvbs=)FAa—iL 17 0 — 0.05 0 0.01
<ryar (DCMU) 1 0 — 0.05 0 0.01
ARy FIFIL 10 0 — 0.1 0 0.02
TAaFI—IL 1 0 — 0.1 0 0.01
DARARN) Y 3 0 — 0.05 0 0.01
USINF TV 3 0 — 0.3 0 0.01
AE/HR 3 0 — 0.1 0 0.01
gALAY 3 0 — 0.1 0 0.01
FT AN L 1 0 — 0.3 0 0.02
FIILYIFR 1 0 — 1 0 0.02
FII2z/OK 1 0 — 0.3 0 0.01
r)HST—)L 17 0 — 3 0 0.05
ANAZJLTOVAF )L 1 0 — 0.05 0 0.01
ESoR=) 32 0 — 0.05 0 0.01
ESYVRILTIOVIFIL 3 0 — 0.05 0 0.01
EUI4AK 2 0 — 0.02 0 0.01
EVIFHILT 1 0 — 0.03 0 0.01
EUS/INUOAFIL 10 0 — 0.05 0 0.01
Eoxoy 3 0 — 0.2 0 0.02
J«470=)L 2 0 — 0.01 0 0.01
Jr=tEFH 2 (MEP) 8 0 — 0.2 0 0.05
iU 14 7 0.06 ~ 0.68 2 0 0.02
THIMF 15 1 0.03 1 0 0.02
Jaya—) 6 0 — 0.1 0 0.02
J7nozPy 1 0 — 0.5 0 0.02
TSAREIL 3 3 0.01 ~ 0.02 0.5 0 0.01
INTHFI=IL 2 0 — 0.02 0 0.01
JILES=)L 2 1 0.10 2 0 001




e ﬁé)};?g} E%BEE?L‘JJ:(D%E% 5%%@%5 %ﬁ_fﬁé’é T ERR
RiA% EFEFEE (me/ke) (me/ke) | tafkgy | (me/ke)
TLFIHA—L 7 0 — 0.03 0 0.01
JOoEIFR 20 5 0.03 ~ 0.11 0.7 0 0.02
RIXRRS L 2 0 — 0.05 0 0.01
Ai=v 3 0 — 0.3 0 0.01
RUZILTAVAFIL 2 0 — 0.1 0 0.01
Ry hvT 1 0 — 0.05 0 0.01
RubxHJy 12 0 — 0.05 0 0.01
RUINTzY 6 0 — 0.05 0 0.01
AFSHDI (AESEDIMEED) 7 0 — 0.1 0 0.02




2. WA (BLF 3 601R1K)

-~ A EERFULOER i | mis |EEER
B REEE (mg/ke) (mg/kg) | ik me/ke
FHEAITYR 11 0 — 0.2 0 0.02
7tIz—k 1 0 — 0.05 0 0.01
FIUXRIRIAEY 33 0 — 1 0 0.01
F7370—)L 14 0 — 0.01 0 0.01
1IXHFAY 5 0 — 0.1 0 0.01
AT HRR 6 1 0.01 0.03 0 0.01
=N 1 0 — 0.4 0 0.02
Rrﬂ*;;ggj)n)bj(/r‘zlﬁr—*ﬁ))bj 2 0 . 0.05 0 0.02
IrTz>FAvIR 1 0 — 0.2 0 0.02
TX9IL 5 1 0.02 0.50 0 0.01
HXHHRR 1 0 — 0.05 0 0.01
YaFF=oy 6 0 — 0.2 0 0.01
yasvbz=)FAa—L 10 0 — 0.5 0 0.02
BLEYRR 10 0 — 0.2 0 0.02
=Y |V 4= 2 0 — 0.03 0 0.02
ST ITER 8 0 — 0.3 0 0.02
L7 /HRA(CYAP) 7 0 — 0.05 0 0.02
IR 4 0 — 0.5 0 0.05
URILANY 6 0 — 0.1 0 0.05
ZAE/HR 5 0 — 0.1 0 0.02
ATV 21 0 — 0.1 0 0.02
TN 49 0 — 0.1 0 0.02
TR XAy 1 0 — 0.05 0 0.02
kIS 8 0 — 0.05 0 0.01
FILYRRZAFIL 1 0 — 2 0 0.01
MLZIVESK 15 0 — 0.2 0 0.02
EUsYIL 6 0 — 0.1 0 0.02
T hI—F(PAP) 9 0 — 0.02 0 0.02
IIWToF L 3 0 — 0.05 0 0.02
PYIZAUE Sl S 4 0 — 0.02 0 0.01
J)7x/HAR0Y 1 0 — 0.1 0 0.02
TILRUDFER 6 0 — 0.1 0 0.01
RILARY 1 0 — 0.1 0 0.02
RRF7E—F 7 1 0.03 0.05 0 0.02
IIFA(TIVY) 1 0 — 05 0 0.03
AYZ)L 9 0 — 0.5 0 0.02
AFZRRR 1 0 — 0.03 0 0.01
AESEDIL(ASHDIMEED) 25 3 0.04 ~ 0.06 0.2 0 0.02
A7O=)L 8 0 — 0.02 0 0.02
JLozxay 2 0 — 0.02 0 0.01




3. JIFS5 (% s0ik)

pEg 5,;;&34 E%BE%J«JJ:@%E% ﬁig‘%’é%ig Eﬁﬁ_ﬁ? TERER
RiA% 2 FEFR (me/ke) (me/ke) | sy | (meke)
TEIz—hk 8 0 — 0.1 0 0.01
FIFRAMAEY 1 1 0.01 1 0 0.01
e =PI 5 0 — 0.4 0 0.02
FEHI 2 0 — 0.1 0 0.01
HZHHRR 1 0 — 0.5 0 0.01
2L 7a77 L (PC) 2 0 — 0.02 0 0.01
IRy 3 0 — 05 0 0.05
IRILARY Y 2 0 — 0.5 0 0.05
BFATI/v 4 0 — 0.05 0 0.02
TR 9 0 — 0.1 0 0.02
FINR XAy 1 0 — 0.1 0 0.02
FJTILEY—L 1 0 — 0.3 0 0.05
TS 10 0 — 0.05 0 0.01
MLIBRRRAFIL 1 1 0.02 20 0 0.01
Zz=haFF 2 (MEP) 4 0 — 0.03 0 0.02
JzUbI—H(PAP) 1 0 — 0.02 0 0.02
INTIF L 10 1 0.03 0.2 0 0.02
JFaFARR 3 0 — 0.1 0 0.03
JOEHYIR 16 0 — 0.02 0 0.01
RILARYY 11 0 — 1 0 0.02
RRFF7HE—h 3 0 — 0.2 0 0.02
TSFFU(ISVUY) 5 0 — 0.03 0 0.03
AYE)L 2 0 — 05 0 0.02
ARIRTRR 8 0 — 0.02 0 0.01
AFSHDI (AESEDIMEED) 1 0 — 0.05 0 0.02




4. FUT YA GEF R 308R1K)

rxs A ERRAULORR e | min |EEER

B IREEIE (mg/ke) (mg/kg) | ik me/ke

FHEAITYR 11 1 0.26 5 0 0.02
FEIz—h 1 0 — 1 0 0.01
FIXRLRIAEY 3 1 0.02 40 0 0.01
YaFF=oy 6 4 0.02 ~ 0.13 10 0 0.01
yasvbz=)FAa—L 4 1 0.70 20 0 0.02
~a)L7zFE )L 6 4 0.03 ~ 0.18 10 0 0.02
STFIIFER 4 2 0.11 ~ 0.21 15 0 0.02
IRILANY 7 3 0.13 ~ 0.28 5 0 0.05
ZRE/HER 11 0 — 10 0 0.02
FT AN L 3 0.05 ~ 0.65 5 0 0.02
TN 3 0 — 05 0 0.02
FILRLXOY 1 0 — 0.5 0 0.02
RIS 1 0 — 0.05 0 0.01
EUFYIL 3 2 0.04 ~ 0.19 15 0 0.02
INTIFrLs 1 0 — 0.05 0 0.02
Z)7x/5A0Y 4 2 0.04 ~ 0.1 5 0 0.02
TILARUOFER 1 1 0.48 5 0 0.01
AYE)L 2 0 — 2 0 0.02
AFZRRR 1 0 — 05 0 0.01
ARSHDIL(AFSELVIIMEED) 2 0 — 2 0 0.02
Lozxay 2 0 — 5 0 0.05




5. Lo AE<EHE 4912 1K)

pEg 5,;;&2;4 E%BE%J«JJ:@%E% ﬁig‘%’é%ig Eﬁﬁ_ﬁ? TERER

RiA% 2 FEFE (me/ke) (me/ke) | ks | (meke)
TEAITYK 9 4 0.12 ~ 0.37 10 0 0.02
7YX ROEY 6 3 0.07 ~ 2.9 30 0 0.01
1IFYFHY 5 1 0.02 0.05 0 0.01
DLIFRDLAFIL 3 0 — 20 0 0.02
IaFFT=Sy 14 10 0.02 ~ 0.35 10 0 0.01
oLz FENL 11 4 0.08 ~ 12 20 0 0.02
EUFYIL 8 5 0.10 ~ 3.2 25 0 0.02
LIz /HRAY 23 12 0.02 ~ 1.7 10 0 0.02
JaEY=Er 8 4 0.01 ~ 0.04 0.3 0 0.01
RILAR) Y 7 1 0.09 3 0 0.02




6. 1= (GAFHEL: 60%& 1K)

mEs 5;;;@;(34 E%BESE«JJ:G)%E% yg%_g%éi Eﬁﬁ_ﬁé %EEE‘ g)?.
B REEIE (mg/ke) (mg/kg) | ik me/ke
FHEAITYR 4 0 — 5 0 0.02
FJFXLRMAEY 43 11 0.01 ~ 0.10 10 0 0.01
A)FHFAY 1 0 — 0.05 0 0.01
A3FH0TYR 3 0 — 0.7 0 0.02
HRXHHRR 1 0 — 0.01 0 0.01
LIRS LAFIL 4 1 0.02 2 0 0.02
yaFFT=>y 34 6 0.01 ~ 0.03 1 0 0.01
yasobs=yFa—iL 17 0 — 3 0 0.02
~a)L7zFE I 2 0 — 3 0 0.02
LTI ITER 7 0 — 6 0 0.02
IR XOY 1 0 — 1 0 0.02
DRILAR) Y 15 0 — 5.0 0 0.05
AaFJ— 18 0 — 0.2 0 0.02
DANELT 2 0 — 15 0 0.02
SEXYZIL 9 0 — 1 0 0.02
RAE/HE 3 0 — 4 0 0.02
ATV 15 0 — 0.1 0 0.02
FT7 AT L 16 1 0.12 2 0 0.02
T7arJ— 13 0 — 0.7 0 0.05
TN 8 0 — 0.5 0 0.02
TFINRLXAY 1 0 — 1 0 0.02
rJTZILIT—)L 6 0 — 05 0 0.05
rIZILS Y 9 0 — 0.1 0 0.01
MLZZUESE 13 1 0.02 2 0 0.02
ESynxkaEy 1 0 — 0.7 0 0.01
EUFYIL 6 0 — 5 0 0.02
Jx=kAFF2 (MEP) 3 0 — 0.3 0 0.02
THIRR 3 0 — 0.03 0 0.01
IIWToF L 3 0 — 0.05 0 0.02
TLTHFYZIL 5 0 — 7 0 0.03
JILESZL 9 1 0.03 1 0 0.01
J)7x/HA0Y 7 0 — 10 0 0.02
o sry 1 1 0.05 2 0 0.03
TaFAHRR 0 — 2 0 0.03
RILAN) Y 5 0 — 2 0 0.02
ROFFIN)ALTAVTRE L 11 0 — 0.7 0 0.01
RUFFESR 12 1 0.01 4 0 0.01
RUTALAR) Y 29 0 — 0.2 0 0.02
RRAYF 1 0 — 5 0 0.02
ISFF(ITVYY) 5 0 — 8 0 0.03
ES/ WA VARIN 8 1 0.02 7 0 0.02
RJa=)L 2 0 — 1 0 0.05
AYE)L 7 0 — 0 0.02
ARSHDIL(AFSEVIMEED) 30 0 — 0.2 0 0.02




P TERAL DR RERE | BEEE | s
BEA i T RelE | @z | LERS
BRIAS JEREFF (mg/ke) (mg/ke) | HRIAS e
a0y 2 0 — 0.2 0 0.02
19k = 4= b 8 0 — 2 0 0.05




7. 759 (BAHE0 60/R1K)

rxs A ERRAULORR i | min |EEER

B R EEE (mg/ke) (mg/kg) | ik me/ke

FEAITYR 12 0 — 2 0 0.02
FJFXLRMAEY 8 2 0.01 ~ 0.05 3 0 0.01
AVESH L 4 1 0.14 2 0 0.02
12 T7HRR 1 0 — 0.3 0 0.01
AF TR 15 0 — 2 0 0.02
Rr/l*;;:\ég?)uj‘(»r*/h“:\‘—ﬂmw“ 5 0 . 05 0 002
IrTzoFavsR 3 0 — 2 0 0.02
ITAIFUORBERIE 26 0 — 0.1 0 0.01
JAFFT=IY 7 1 0.02 1 0 0.01
IR IT/OR 4 1 0.02 0.5 0 0.02
yasvbkz=)Fa—iL 23 0 — 0.7 0 0.02
2oz FEIL 19 0 — 1 0 0.02
L IILTFRAY 1 0 — 0.5 0 0.02
LTI ITER 13 2 0.02 ~ 0.03 0.5 0 0.02
T /RA(CYAP) 1 0 — 0.05 0 0.02
CIhTIVALT 6 0 — 5 0 0.05
LI/ESTIY 14 1 0.02 0.7 0 0.01
SITITY 10 4 0.01 ~ 0.14 2 0 0.01
oo7z/arJ—L 5 0 — 0.6 0 0.01
I ITTFER 5 0 — 0.3 0 0.02
IRIVAR) Y 4 0 — 0.5 0 0.05
SEXYZIL 5 0 — 0.5 0 0.02
AERRT L 2 0 — 0.2 0 0.01
AE/HE 1 0 — 2 0 0.02
ZREATRSTR 24 15 0.02 ~ 1.1 2 0 0.01
BATIO/Y 1 0 — 0.05 0 0.02
FTAEY L 4 0 — 0.7 0 0.02
FIIIVESE 1 0 — 0.5 0 0.01
RIS —)IL 16 0 — 1 0 0.05
RFLYBRRZRAFIL 2 0 — 2 0 0.01
Ji\ay 4 1 0.04 0.7 0 0.02
ESsnzRkAEy 3 0 — 0.5 0 0.01
EUSYIL 22 4 0.03 ~ 0.23 1 0 0.02
Ey7oxi oy 3 0 — 0.7 0 0.02
EURVALT 14 1 0.23 2 0 0.02
T7EXYEY 5 1 0.02 4 0 0.02
IzFI)EL 2 0 — 0.5 0 0.1
Jx=rAFZ> (MEP) 2 0 — 0.5 0 0.02
2x/7HILT (BPMC) 1 0 — 0.5 0 0.01
TJIVESYIY 1 0 — 2 0 0.02
TJIvERFI A 5 1 0.03 0.5 0 0.02
paw s VAN 1 0 — 1 0 0.02
TAIRR 1 0 — 0.02 0 0.01




e DB EERFULORR PEER | ZR0Z | wapa
R4 BRER | sy R (me/ke) fﬂi Efgg (me/ke)
J7nozvy 10 0 — 1 0 0.05
INTARYZL 15 2 0.04 ~ 0.26 1 0 0.03
TILFT=IL 3 0 — 0.2 0 0.02
P2IZAUE Sl 1 0 — 05 0 0.01
J)L7z/9AAY 13 0 — 2 0 0.02
TRV TER 10 4 0.01 ~ 0.06 1 0 0.01
Javsry 6 2 0.12 ~ 0.18 5 0 0.03
ANFLFTIIR 1 0 — 0.7 0 0.02
RILAR) Y 3 0 — 1 0 0.02
RUFFIRYALTAYTRE )L 2 0 — 2 0 0.01
RUFFEIR 16 2 0.03 3 0 0.01
RRAYF 6 2 0.03 ~ 0.19 3 0 0.02
RRAF7E—F 1 0 — 0.2 0 0.02
EOPFZATANIN 2 0 — 2 0 0.02
ynJaz) 8 0 — 0.3 0 0.05
SIRAGFY 8 0 — 0.2 0 0.02
AFSHDI (AESEDIMEED) 3 0 — 1 0 0.02
ANFTTTIOR 10 0 — 2 0 0.02
Lozxay 3 0 — 05 0 0.05
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8. AT-FE&H GAFHEL: 308 1K)

B A ERRRLEORER iku | uais | TEER

B REEIE (mg/ke) (mg/kg) | ik me/ke

FHEAITYR 1 0 — 3 0 0.02
7tIz—k 1 0 — 0.5 0 0.01
7IFROEY 2 2 0.01 ~ 0.02 5 0 0.01
F7370—)L 3 0 — 0.02 0 0.01
1IXHFAY 1 0 — 0.1 0 0.01
AF YR 1 0 — 3 0 0.02
IrTz>FavsR 10 2 0.02 ~ 0.05 3 0 0.02
YaFF=oy 27 1 0.04 2 0 0.01
yasvbz=)FAa—L 7 2 0.03 1 0 0.02
0Lz FEIL 2 2 0.09 ~ 0.20 5 0 0.02
STIIFER 7 2 0.02 ~ 0.04 5 0 0.02
SIMTIVALT 6 0 — 6 0 0.05
URIVAR) Y 12 2 0.06 ~ 0.08 5.0 0 0.05
CATFER (AT FIFPEED) 2 0 — 0.02 0 0.01
CANEILT 1 1 0.04 10 0 0.02
BATOIY 2 0 — 0.05 0 0.02
FT AL 23 0 — 0.3 0 0.02
Jr=hrEFF 2 (MEP) 9 0 — 0.5 0 0.02
JrzoERFIA—f 3 1 0.06 2 0 0.02
ILTHFYZIL 20 1 0.04 5 0 0.03
IR R—F 1 0 — 2 0 0.03
)L 7x/9Z0Y 2 1 0.05 5 0 0.02
TRV DFTER 3 3 0.01 ~ 0.12 5 0 0.01
=R IR 3 0 — 0.02 0 0.01
RILARY 2 0 — 3 0 0.02
RUTAAZ) Y 3 0 — 0.2 0 0.02
IIFA(TIVY) 1 0 — 2 0 0.03
ESw VAN 1 0 — 3 0 0.02
AVYE)L 1 0 — 0.5 0 0.02
AZZRRR 1 0 — 0.3 0 0.01
AFZFXDIL(ARTERDILMEERTD) 20 0 — 0.2 0 0.02
%ﬁlg)ﬁn_)b(s—}ﬁan—)b’& 5 0 _ 03 0 0,02
Jyz—anoyv 7 0 — 0.2 0 0.02

11 -




9. S&ES (BHE: 601R{K)

mEs 5;;;@;(34 E%BESE«JJ:G)%E% yg%_g%éi Eﬁﬁ_ﬁé %EEE‘ g)?.
B REEIE (mg/ke) (mg/kg) | ik me/ke
FHEAITYR 26 3 0.02 ~ 0.32 5 0 0.02
FIUXLRMAEY 18 15 0.01 ~ 0.47 10 0 0.01
X i=wlIN 5 1 0.05 3 0 0.02
IhXHY—L 2 0 — 0.5 0 0.03
ILYFD LAFIL 9 9 0.03 ~ 0.70 15 0 0.02
YaFF=oy 20 18 0.01 ~ 0.18 5 0 0.01
yasvbkz=)Fa—i 10 5 0.03 ~ 0.09 2 0 0.02
a7z FE ) 21 2 0.02 ~ 0.04 5 0 0.02
LTI ITER 21 8 0.03 ~ 0.31 10 0 0.02
L7 /KA (CYAP) 8 0 — 0.1 0 0.02
CSINIIVAILT 7 0 — 5 0 0.05
YI/ESTIIY 2 1 0.44 5 0 0.01
TIILR)Y 1 0 — 1 0 0.05
A==y 17 9 0.03 ~ 0.48 5 0 0.03
URILANY 4 0 — 3 0 0.05
SEXRYDIL 8 0 — 0.1 0 0.02
F7HaTYR 1 1 0.25 2 0 0.03
FT7 AT L 1 0 — 2 0 0.02
T7arV—L 35 16 0.06 ~ 0.41 10 0 0.05
FIIIUESE 3 0 — 05 0 0.01
RIS —)IL 15 0 — 2 0 0.05
EZzryr 15 1 0.02 0.7 0 0.01
ES/oxkoEY 1 1 0.01 2 0 0.01
T7EFRYERY 8 5 0.05 ~ 0.75 2 0 0.02
Jr=tEFF (MEP) 22 0 — 0.2 0 0.02
Iz hI—h(PAP) 11 0 — 0.02 0 0.02
JzoEOFI A— 5 1 0.04 1 0 0.02
JzoJarv—)L 3 2 0.02 3 0 0.01
i = VA NI 1 0 — 2 0 0.02
J7o0zvy 14 0 — 1 0 0.05
JILAEaYR 2 2 0.03 ~ 0.10 2 0 0.01
TLSHEY=IL 25 5 0.03 ~ 0.11 5 0 0.03
TILARUOTFER 6 3 0.01 ~ 0.05 2 0 0.01
TaFAHRR 13 0 — 1 0 0.03
RILA) Y 11 4 0.07 ~ 0.41 8 0 0.02
ROFFIN)ALTAVTRE L 5 1 0.03 2 0 0.01
RUFFESR 28 5 0.02 ~ 0.22 10 0 0.01
RRAYKR 2 2 0.03 ~ 0.07 10 0 0.02
ISFAL(ITVY) 3 0 — 8 0 0.03
EPDwn VAN 25 18 0.03 ~ 0.37 3 0 0.02
AFZHVIL(AFTERVILMEETD) 6 0 — 1 0 0.02
AFEFA (DMTP) 8 0 — 1 0 0.02
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10. ZF (G 8K 304&% 1K)

pEg 5,;;&2;4 E%BE%J«JJ:@%E% ﬁig‘%’é%ig Eﬁﬁ_ﬁ? TERER
RiA% 2 FEFE (me/ke) (me/ke) | ks | (meke)
IF7a—)L 3 2 0.06 ~ 0.26 10 0 0.05
IrFHY—I 3 0 — 15 0 0.05
yaFF=ov 2 2 0.25 ~ 0.29 50 0 0.05
0Lz E)L 1 0 — 40 0 03
FUNSZYTO—)L 1 1 0.4 30 0 0.3
SINA T 1 1 0.41 80 0 0.05
FLZIVESK 2 0 — 30 0 0.05
Eozoh)y 1 0 — 30 0 0.05
Eu7axs oy 21 0 — 15 0 0.05
JroEAFxYA—k 2 1 0.56 40 0 0.05
AFHFA (DMTP) 1 0 — 1 0 0.05
JL7zXOy 1 0 — 10 0 03
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